Mid-Chapter 2 Test Review (work).notebook October 02, 2023

1. Find the slope of the line passing through the points (—1,-7) and (8,-6).

)(l Y xl_ >2.

Ko — X,

m= —6—=7=
B —=|

m= 5|

2. Find the slope of the line.
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3. Fmd/{%] Ax) = 18x% — 12x -3

#(5)=18G) - e(5)-3
()= — g s

4. Is the relation {(—6,—4), (—2,—4), (—1,—4)} a function? Why or why not?
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5. Are the following functions?

a) b)

A
-]
™

L

Lunckion net o
Lunction

October 02, 2023

N

N

~

[l L (]

Lunction

6. Find the slope and y-intercept of the line with the equation 4x — 3y = 36.

Hx — '37/ + 36
X —4x

e

Y FExX— [2

slope= 3 y-int=-12
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8. Graph the linear equation 4x — 2y = —8 by finding x- and y-intercepfts.
X-int * set y=D

.......... '-|)( 2LL0Y= —-Q
N Ux =—8
R 4 9
B R x=~2
i T, Y-kt Set X =0

..................

N jb‘?)

..................

.................. X L‘(O.)—Q.,;- _8

..................

N j Y
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9. Tell whether Line 1 and Lme 2 are parallel perpendicular, or neither.
Line 1 passes through lb 7§ and 13 le.
Line 2 passes through vy 3‘) and (— 1 S)

99— _ o
M= 1R - m= =%
_ = 2

m 3 n = 2

Same sLiye
PARAL\EL

= -4

10. Which slope-intercept equation represents a line that passes through the pom)é ? and is parallel to the line

v Gad)s
a. y=4dxr+1 \i y=—4x—1 c. y=—%x75 d y=-4x-21 ""'67)6/

V—=Y,=m (X=x,)
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- r{: (stort ing pozn-!-})
11. Write an equation to model thedWllowing situation. g

An amusement park chargeadmission aﬁ 52.00 per ride D

a. y=2x+10 b. y=10x -2 c. y=10x+2 d y=-2x+10

y-int Cstarting polnt)

12. Write an eguatientamodel the following situation. %Lop e=-72. SO
A candle 1¢ 6 in. tall dnd burns at a
a. y=06x+25 b. y=-25x+6 c. y=06x-25 d. y=25x+6
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13. Write the equation of the line, in slope-intercept form, that passes through the point (3_, 5) and has slope 2.

Y=~ = m (X - ><3
J- 5= _2.(%x- %)
\:-—5: -7X +b6

15 +5
=

X, Y

\
14. Find the slope-intercept equation of the line passing through the points (-3, —5) and (6, —2).

—
-

-, =m (x=x))
7”5'— L (x-)

7/+’5—-L><+ l

Y= 3k L*J‘
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15. What is the domain and range of the function in the graph?

FLLE bt b
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